	17
	  
    1285
 + 6314
	2 m 3 dm = ___dm
	
907 · 4
	
6 · 4 + (32 – 17) =
	  od __ = 8, ker je__________

	18
	  
  4872
-    98
	
	
837 · 5
	
(48 + 8) : 8 = 
	  od 28 =__, ker je__________

	19
	  
    5055
 +     87
	7 cm 1 mm = ___mm
	
556 · 6
	
(7 + 18) + 36 : 9 =
	  od __ = 7, ker je__________

	20
	  
  2935
- 1306
	
	
123 · 7
	
 4 · (3 + 7) = 
	  od 5 =__, ker je__________

	21
	  
    6324
 +   638
	34 dm 2 cm = ____cm
	
456 · 8
	
(5 – 4) · (8 – 8) =
	  od __ = 6, ker je__________

	22
	  
  3654
- 2987
	
	
789 · 9
	
(7 + 17) : 3 = 
	  od 10 =__, ker je__________

	23
	  
        96
 + 7410
	3 km 37 m = _____m
	
106 · 20
	
(4 · 4) + (40 : 5) =
	  od __ = 5, ker je__________

	24
	  
  6384
-   687
	
	
209 · 30
	
(21 + 9) : (6 – 1) =
	  od 36 =__, ker je__________

	25
	  
    2783
 + 5405
	308 dm = ___m__ dm
	
147 · 10
	
14 + 54 : 9 – 1 =
	  od __ = 4, ker je__________

	26
	  
  9963
-   587
	
	
258 · 40
	
19 – 2 · 4 + 21 =
	  od 35 =__, ker je__________

	27
	  
    3541
 + 2917
	45 cm = ___cm ___mm
	
369 · 50
	
(5 + 15) + 32 : 4 =
	  od __ = 3, ker je__________

	28
	  
  3874
- 3579
	
	
753 · 60
	
 0 · (5 + 5) = 
	  od 24 =__, ker je__________

	29
	  
    5007
 + 1007
	12 m 8 dm = ___dm
	
423 · 70
	
(1 + 1) · (2 – 0) =
	  od __ = 2, ker je__________

	30
	  
  9637
-       9
	[bookmark: _GoBack]
	
864 · 80
	
(38 + 7) : 5 = 
	  od 54 =__, ker je__________

	31
	  
    8597
 +       8
	7 km 704 m = _____m
	
108 · 90
	
4 · 3 + (14 – 4) =
	  od __ = 1, ker je__________

	32
	  
  4433
- 4422
	3 m 4 dm = ___dm
	
857 · 0
	
(7 + 17) + 7 : 7 =
	  od __ = 9, ker je__________



